) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g )1 4 wrg | 72| E oIS
27 HEAR (A/R) 6/17 9/15 O
A FASREL (FE:4)) 7:24 7:39 DA
. R A it Pl
== 7K % (m) 2.4 2.7
BRI KB <@ )
LR o = i
I " (C) 24.0 22.8
et IS i (C) 22.3 24.1
" @, A JRERE | Rk
S = AR
H 75 B B (m) 0.9 1.7 1.3
% i B (em) |> 100 > 100 > 100
15 | 2 pH 7.4 7.5 7.5
. DO (mg/L) 6.0 3.7 4.9
i BOD (mg/L) 1.3 1.5 1.4
BR COD (mg/L) 3.2 3.4 3.3
ERE SS (mg/L) < 1 1 1
wl & %= # (mg/L) 3.12 3.60 3.36
S B (mg/L)| 0.045 0.189 0.117
HI = i #n (mg/L) J<  0.01 0.01 0.01
B K 2 v A (mg/L)|< 0.001 [< 0.001 < 0.001
el & v 7 v mg/L)]< 01 [< 0.1 < 0.1
53 i) (mg/L) [< 0.005 [< 0.005 < 0.005
TH Nl 7 v A (mg/L) < 0.02 [< 0.02 < 0.02
H | w % (mg/L) < 0.005 [< 0.005 < 0.005
e 7K g8 (mg/L) J< 0.0005[< 0.0005 < 0.0005
iS Fif] (mg/L) [< 0.02 [< 0.02 < 0.02
MOl v R M 8k (mg/L)|< 0.05 0.08 0.07
H T~ 7> (mg/L) [< 0.02 0.09 0.06
H v = 2 (mg/L) [< 0.02 [< 0.02 < 0.02
WAt W A 4~ (mg/L) 1820 4430 3125
z MBAS (mg/L) 0.03 0.08 0.06
7o MHEHR (mg/L) 0.05 0.78 0.42
D W% # (mg/L) [< 0.01 0.04 0.03
LS =E (mg/L) 3.05 2.09 2.57
e "B W P B (mg/L)| 0.035 | 0.143 0.089
B s B R oy 6260 12000 9130
O ok R NE INE
- 7K i (C) 24.4 26.7
7% é—ﬁ SRAAL KSR 5| TRA LK SRR
5 5 B (cm) 30 50 40
[ pH 7.0 7.1 7.1
E DO (mg/L)|< 0.5 [< 0.5 < 0.5
I | g BOD (mg/L) 7.2 16 12
- COD (mg/L) 8.8 14 11
. IE_ SS (mg/L) 6 4 5
= = # (mg/L) 2.11 2.11 2.11
A 4 B (mg/L)| 0.450 | 0.443 0.447
WAtk W A 4~ (mg/L) 12700 10600 11650
T [Foe=rz=®E (mg/L)| 137 1.53 1.45
o fiEmerEaEE (mg/L) 0.06 |< 0.01 0.04
RE Rl E %2 3R (mg/L) [< 0.01 0.02 0.02
o L BR M BE (mg/D)| 0.215 0.356 0.286
B A s 8 R o] 33900 [ 27800 30850




7 S 4 A | )14 HIE T HT A 44
PAN
g ) |G FOR | T OIIIES
27 HEAR (A/R) 6/17 9/15 O
A FASREL (FE:4)) 8:02 7:58 DA
. B O fr & T b | T s
T2 k% (o 12 18
BRI KB <@ XK=
LR o = i
I " (C) 24.2 22.6
et IS i (C) 24.9 24.4
" 0, A e | Rk
S = Wbl 5
H 75 B B (m) 1.1 1.7 1.4
% i B (em) |> 100 > 100 > 100
15 | 2 pH 7.4 7.3 7.4
. DO (mg/L) 4.4 2.3 3.4
i BOD (mg/L) - - —
B COD (mg/L) 5.4 3.9 4.7
ERE SS (mg/L) 3 2 3
e %= # (mg/L) 2.64 3.38 3.01
S B (mg/L)| 0.133 0.406 0.270
HI 2% 4 (mg/L) . B .
7 F 2 v A (mg/L) - - —
| & ¥ 7 v (mg/L) — - —
FE i) (mg/L) - - —
H LS M 7 v A (mg/L) ~ - —
At % (mg/L) - - -
A 7K $R  (mg/L) - - ~
IS &l (mg/L) - - —
ol B M B (meg/L) - - -
B I amti~y 7> (mg/L) - - -
U~ & & (me/L) - - n
WAt W A 4~ (mg/L) 5960 6930 6445
z MBAS (mg/L.) - - -
ToE=THEHE (mg/L) 0.34 0.78 0.56
D fEEetE R (mg/L) 0.05 0.07 0.06
LS =E (mg/L) 2.03 1.29 1.66
e "B W P B (mg/L)| 0.100 | 0.353 0.227
K s B o sm] 16800 18800 17800
O ok R TE INE
. 7K i (C) 24.9 24.9
R = P e | P R
5 5 B (cm) 98 90 94
[ pH 7.3 7.3 7.3
o DO (mg/L) 1.4 1.2 1.3
TH | g BOD (mg/L) - - -
- COD (mg/L) 6.8 4.6 5.7
. IE_ SS (mg/L) 3 2 3
= = # (mg/L) 2.00 3.12 2.56
A 4 W (me/L)| 0.365 | 0.429 0.397
WAtk W A 4~ (mg/L) 11600 7390 9495
T [ 7o==7W%=% mg/)| 064 0.98 0.81
o fiEmerEaEE (mg/L) 0.11 0.09 0.10
[ e (mg/L) 0.73 1.25 0.99
o L BR M BE (mg/D)|  0.265 0.376 0.321
B K s 8 R oooen] 32200 19200 25700




) E Hh S 4 A | )14 HIE T HT A 44
PAN
g S FCH | W EoMIES
27 HEAR (A/R) 6/17 9/15 O
A FASREL (FE:4)) 8:32 8:25 DA
. R A G | EER
== 7K % (m) 2.5 3.4
BRI KB <@ )
] X o fii§ i
I " (C) 26.4 23.0
et IS i (C) 24.8 24.3
" @, A et | R
o B I = fiE R fi 5L
H 75 B B (m) 1.0 1.5 1.3
% i B (em) |> 100 > 100 > 100
15 | 2 pH 7.4 7.3 7.4
. DO (mg/L) 5.1 3.0 4.1
i BOD (mg/L) - - —
B COD (mg/L) 5.5 4.8 5.2
ERE SS (mg/L) 2 1 2
e %= # (mg/L) 2.48 3.44 2.96
S B (mg/L)|  0.240 0.445 0.343
HI 2% 4 (mg/L) . B .
7 F 2 v A (mg/L) - - —
| & ¥ 7 v (mg/L) — - —
53 i) (mg/L) - - ~
H LS M 7 v A (mg/L) - - —
At % (mg/L) - - -
A 7K R (mg/L) - - —
T & (mg/L) - - _
ol B M B (meg/L) - - -
B I amti~y 7> (mg/L) - - -
U~ & & (me/L) - - n
WAt W A 4~ (mg/L) 8490 7070 7780
MBAS (mg/L) - -
7o MHEHR (mg/L) 0.50 0.88 0.69
etz R (mg/L) 0.08 0.10 0.09
LS =E (mg/L) 1.53 2.24 1.89
B e M B (mg/L)| 0.194 0.404 0.299
A s B o sm] 23500 19400 21450
BB oK ®E NE INE
7K i (C) 24.5 26.3
R = P e | P R
5 5 B (cm) 38 62 50
A pH 7.4 7.2 7.3
E DO (mg/L) 0.6 |[< 0.5 0.6
. BOD (mg/L) - - -
- COD (mg/L) 5.4 5.5 5.5
IE_ SS (mg/L) 6 3 5
= = # (mg/L) 1.79 3.24 2.52
A 4 B (mg/L)| 0.457 | 0.441 0.449
WAtk W A 4~ (mg/L) 14600 8050 11325
TUE=TMEEHE (mg/L) 0.63 1.86 1.25
fiEmerEaEE (mg/L) 0.05 0.06 0.06
[ e (mg/L) 0.21 0.78 0.50
B B M B (mg/L)| 0.307 0.366 0.337
B A s 8 R o] 38300 [ 21100 29700




) E Hh S 4 A | )14 HIE T HT A 44
PAN
g i SR | W BT N
27 HEAR (A/R) 6/17 9/15 O
A FHAREZ] (RF:47) 8:59 9:15 DA
- R A D R
== 7K % (m) 4.5 4.8
BRI KB <@ )
LR o fii§ i
I " (C) 271 25.2
et IS i (C) 25.3 24.5
" @, A o) Fkh
S = R
H 75 B B (m) 1.3 1.9 1.6
% i B (cm) 68 [> 100 84
15 | 2 pH 7.6 7.2 7.4
. DO (mg/L) 6.7 3.9 5.3
i BOD (mg/L) - - —
B COD (mg/L) 7.1 3.9 5.5
ERE SS (mg/L) 2 1 2
e %= # (mg/L) 3.07 3.31 3.19
S B (mg/L)| 0.394 0.430 0.412
HI 2% 4 (mg/L) B B .
7 F 2 v A (mg/L) - - -~
| & ¥ 7 v (mg/L) - - —
S b8} (mg/L) - - -
H LS M 7 v A (mg/L) - - -
H filt #% (mg/L) - - -
A 7K $R  (mg/L) - - —
¥ ki (mg/L) - - ~
ol B M B (meg/L) - - -
B I amti~y 7> (mg/L) - - -
: Z = A (mg/L) - — -
WAt W A 4~ (mg/L) 12200 7310 9755
z MBAS (mg/L) - - -
7o MHEHR (mg/L) 0.31 1.15 0.73
D fEEetE R (mg/L) 0.17 0.10 0.14
LS =E (mg/L) 1.87 1.50 1.69
e "B W P B (mg/L)| 0.331 | 0.379 0.355
S s B o wsm] 33900 19800 26850
OB ok NE INE
. 7K i (C) 22.9 26.7
7% /7?\ PR ALK S8 B | Pk K S8 5
5 5 B (cm) 76 72 74
[ pl 7.1 7.1 7.1
E DO (mg/L)|< 0.5 [< 0.5 < 0.5
TH | g BOD (mg/L) - - _
o COD (mg/L) 5.6 4.1 4.9
&l SS (mg/L) 3 3 3
= = # (mg/L) 1.46 1.12 1.29
A 4 B (mg/L)| 0373 [ 0.284 0.329
WAtk W A 4~ (mg/L) 17400 13800 15600
T [Foe=7H=%E (mg/L)| 0.3 0.79 0.86
o fiaEe =R (mg/L) |< 0.01 [< 0.01 < 0.01
RE Rl E %2 3R (mg/L) [< 0.01 |< 0.01 < 0.01
i L Be M OBE (me/D)|  0.324 0.238 0.281
B A s 8 R o] 45200 [ 35700 40450




) E Hh S 4 A | )14 KA HIE T HT A 44
PAN
g W B RS | tmiEn|  C X
27 HEAR (A/R) 6/17 9/15 O
A FHAREZ] (RF:47) 9:36 9:54 DA
. R A it Pl
== 7K % (m) 3.1 3.8
BRI KB <@ )
LR o fii§ &
I " (C) 28.6 2.7
et IS i (C) 25.3 24.7
P @, A et | et
= = fiE R fi 5L
H 75 B B (m) 1.4 1.9 1.7
% i B (cm) |> 100 90 95
15 | 2 pH 7.8 7.3 7.6
. DO (mg/L) 6.1 5.3 5.7
i BOD (mg/L) - - -
BR COD (mg/L) 5.4 4.4 4.9
ERE SS (mg/L) 2 2 2
wl & %= # (mg/L) 3.81 4.24 4.03
S B (mg/L)|  0.390 0.323 0.357
HI = i fn (mg/L) 0.02 0.01 0.02
B K 2 v A (mg/L)|< 0.001 [< 0.001 < 0.001
el & v 7 v mg/L)]< 01 [< 0.1 < 0.1
FE i) (mg/L) |< 0.005 |< 0.005 < 0.005
TH Nl 7 v A (mg/L) < 0.02 [< 0.02 < 0.02
H [ 7 % (mg/L) < 0.005 [< 0.005 < 0.005
e 7K g8 (mg/L) J< 0.0005[< 0.0005 < 0.0005
iS Fif] (mg/L) 0.04 0.02 0.03
wolw M M 8 (mg/L)< 0.05 [< 0.05 < 0.05
T~ > (me/L)| 0.05 0.05 0.05
H v = 2 (mg/L) [< 0.02 [< 0.02 < 0.02
WAt W A 4~ (mg/L) 11400 7330 9365
z MBAS (mg/L) 0.08 0.06 0.07
7o MHEHR (mg/L) 0.45 1.10 0.78
%) e E %3 (mg/L) 0.27 0.12 0.20
LS =E (mg/L) 2.52 2.85 2.69
e "B W 7 B (mg/L)| 0332 | 0.271 0.302
K s B o wsm] 32000 18700 25350
OB ok NE INE
- 7K i (C) 24.7 27.9
R = Ji 5 fE 5L
5 5 B (cm) 90 87 89
[ pl 7.6 7.3 7.5
o DO (mg/L) 3.7 1.6 2.7
TH g BOD (mg/L) - - -
- COD (mg/L) 4.5 3.5 4.0
. IE_ SS (mg/L) 3 3 3
= = # (mg/L) 1.83 2.73 2.28
A 4 B (mg/L)| 0281 [ 0.286 0.284
WAtk W A 4~ (mg/L) 15200 11500 13350
T [ 7o==7W%# mg/L)| 031 0.65 0.48
o fiEmerEaEE (mg/L) 0.12 0.09 0.11
[ e (mg/L) 0.95 1.37 1.16
o L BR M BE (mg/D)|  0.225 0.252 0.239
B A s 8 R o] 40300 [ 25700 33000




